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4(x-1)+3(y-1)=15, 3(x-1)+4(y+1)=21
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e (a) QA aHlsesd 63d v+ dd Aadl ¢ 10
x+2y+3z=14, 2x+y+z=7, Sx+2y+z=12
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() (4+B) =4'+B" R) (4B) =B"- A
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ENGLISH VERSION

1 (a) Solve the equation by Cramer's method :
4(x-1)+3(y-1)=15, 3(x-1)+4(y+1)=21
(b) Write properties of determinants.
OR
1 (a) Solve the equation by Cramer's method :
x+2y+3z=14, 2x+y+z=7, Sx+2y+z=12
(b) Prove that :
ax+a bx a-bx
bx+b cy b-cy|=0
cx+c az c—az
2 (@) Explain : Identify matrix, Symmetric matrix,
Square matrix, Zero matrix.
P RN I R D ‘
b If 4=/, _|%7| 5 ,|“7|_{ 3| verily that
A(BC)=(4B)-C
OR
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(a)

(b)

Find Inverse matrix

2 31
A=|0 5 6
1T 1 2
Verify

() (4+B) =4'+B" @ (4B) =B - A

Find limit : (any three)

ey

)

3)

4)

()

o 2x249x49
lim =~/ =~ ~°

x>-3 2x2 1 7x+3

lim Yr+2-+5

x—>3 x—3

. 52 _7x-2
lim — "= =~

x— 0 3x2 - 2x—4

. 2Y
lim [l+—j
n—> n

5x
lim
x—0 X
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4 F'dd—y'h 15
in dx.(tree)

O r==

) y= x2 ‘e2x
@) = (2x2 - 5x+2) (3-2x)

_logx

@ Y=
e

1+e*
) ylog[ ]

1-e

OR
4 Integrate : (any three) 15

1 2
(1) I[x—;j dx
©) I[e +;jdx

®3) Ix-logxdx

2x-3
A -
@ x2—3x+l
x+2
dx
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